J—T B3R A LIRMLREBE ST IR A DK (RHARIRBL)
FH)l <E% 1ELEHE>

IBGL |7avs| KEE | BS EF4 24 |[@%| FC |YDS| EHy| TD
11 B BAKX | 25 |lUF =B 3 10 1| 158 |17.6 1
2| A ERA | 14 |BE @8 4 8 1 921131 1
3| A BigE 6 |[FE EBX 3 14 0| 78| 5.6 0
41 A BAK | 23 |[AE B 2 5 0 71 1.4 0
51 A MEM | 83 |22 # 3 6 4 -3([-1.5 0

TR <BE# 1EFRGFH HE>

IB6L [Frys| KE¥FR | BS EF4 24 (@ | FC [ YDS| EH| TD
1 A FEM 49 |BK K#& 4 1 0 40 140.0 1
2| A WERK | 19 [FBR =i 4 1 0] 29 (29.0 0
3| A FEM 12 |Ku &F 4 1 0| 26(26.0 0
41 A BRAK 6 &Nl ERE 3 1 0| 24 (240 0
5| B NN 1 |EHF EXE 3 2 1 14 (14,0 0
6| B Rk | 17 |#EE EE 4 1 0| 11110 0
71 B IHK 6 | B 2 2 0| 16| 8.0 0
71 A WEK | 45 |[BE A 3 1 0 8| 8.0 0
9 B IHK | 89 |EHKE BR 2 1 0 6| 6.0 0
10| B YHK | 13 |HA = 4 1 0 5| 5.0 0
1n| B kK | 35 [EH RBAE 3 1 0 3] 3.0 0
nl A ERK 1 |ME Bft 3 1 0 3] 3.0 0
13 A BERK 6 &2 =it 3 1 0 1] 1.0 0
14| A WERK | 14 |BER XRiE 3 2 1 0] 0.0 0
14| B EBK | 16 [BH gk 3 1 0 0] 0.0 0
14| B mRK | 11 [ ELE 3 1 0 0] 0.0 0
14| B BAKX | 24 |thR& B 2 1 0 0] 0.0 0
18| B IHK | 11 |F0A ME 3 1 0| -5(-50 0




